Electric Drives Linear Motion and

and Controls Hydraulics Assembly Technologies

Inline filter

Types 16 FE 2500 to 7500

Nominal size: 2500 to 7500

Nominal pressures 16 bar

Connections up to DN 300

Operating temperature -10 °C to +90 °C

Table of contents

Rexroth
Bosch Group

RE 51403/09.10 116
Replaces: 02.09

31546_16fe4000_dn150_d.eps

Application

Contents
Application, features

Desgin, filter element, accessories,
characteristic curves, quality and standardization

Ordering details
Preferred types

Ordering details:
Electronic switching element for clogging indicator

Plug-in connectors according to IEC 60947-5-2
Symbols

Technical data

Characteristic curves

Unit dimensions

Spart parts

Installation, commissioning, maintenance

Page
1

w N

8
9...11
12
13, 14
15

— Filtration of pressure fluids and lubricants.

— Filtration of fluids and gases.

— Direct installation into pipelines.

— Direct wear protection of downstream components and systems.

Features

— Filters for inline installation
— Particularly suited for off-line filtration
— Extremely large filter area

— Flow-optimized design due to
3D computer-supported design

— Low pressure drop.
— Special highly efficient filter media



2/16 Bosch Rexroth AG | Hydraulics

Design

16 FE 2500 - 7500 | RE 51403/09.10

Steel welded construction of filter housing with connection for

inlet and outlet positioned on the opposite side. Filter cover
with bleed and filter housing with drain screws. Filter mount-
ing by means of two welded on feet.

Materials as per spare parts list.

Filter element

Further design variants available on request.

Pleated design with optimized pleat density and various filter
media.

The filter element is the most important component of the
"FILTER" system in view of the prolonged life and the wear
protection of the systems.

The most important criteria for selection are the required de-
gree of cleanliness of the operating medium, the initial pres-
sure differential and the contamination retention capacity.

Accessories

For further detailed information please refer to our brochure
"Filter Elements".
Bypass valve

To protect the filter element during startup and over pressur-
ization due to clogging.

Clogging indicator

Basically, the filter is equipped with mechanical optical clog-
ging indicator. The electronic clogging indicator is connect-
ed via the electronic switching element with 1 or 2 switch-
ing points, which has to be ordered separately. The electrical
switching element is attached to the mechanical optical clog-
ging indicator and held by means of a locking ring.

Characteristic curves

Bleed valve

For bleeding the filter in the commissioning and for the safe
reduction of the operating pressure.

Cover lifting tool

For the simple lifting and pivoting of the filter cover in case of
filter element replacement and maintenance.

An optimum filter selection is made possible by our
"BRFilterSelect" software, see download area
http://www.eppensteiner.de.

Quality and standardization

Additional characteristic curves for the filters in this catalogue
can be found in the BRFS filter calculation program.

The development, manufacture, and assembly of BRFS
industrial filters and BRFS filter elements is carried out within
the framework of a certified quality management system in
accordance with ISO 9001:2000.

The strength calculation and filter tests are completed accord-
ing to current rules as well as according to national and inter-
national standards.

The CE marking according to DGRL will be performed optionally,
depending on the individual case and the operating conditions.
We will willingly perform the conformity evaluation according
to DGRL for you.

Acceptance of the filters by classification companies will be
possible upon request.



RE 51403/09.10 | 16 FE 2500 - 7500

Ordering details

Hydraulics | Bosch Rexroth AG 3/16

of the filter |
16 |FE —A -0 V2,27D0 0
Pressure Complementary
16 bar =16 details
Design 0= . without
Inline filter =FE M= with cover
Nom. size lifting tool
. 2 _ >
FE... = 2500 3000 4000 £7=  Certificate
6000 7000 7500 Material
- - T 0= Standard
Filtration rating in pm
nominal Seal
Stainless steel wire mesh, cleanable: M= NBR seal
G10, G25 =G... V= FKM seal
Paper, non-cleanable P10 =P... Connection
absolute (ISO 16889) DO = DIN flange
Micro glass, non-cleanable I P
H3XL, H10XL, H20XL = H..XL Clogging indicator
- . V2,2 = clogging indicator, optical
Pressure differential State switching pressure 2.2 bar
Max. admissible pressure differential of the filter element
Bypass valve
30 bar =A )
- T model 0= without
ement mode _
Standard adhesive T = 100 °C - 0... 6= 3 bar
Standard material =...0
chemically nickel-plated =..D"
Solenoid Ordering example:
without =0 16 FE 3000 H10XL-A00-00V2,2-DOMO00
of the filter element T T T
2. —A - -
] ] ]
Filter element
Design =2 Seal
Nom. size M= NBR seal
Filter Filter element V= FKM seal
Number Type Bypass valve
2500, 3000 3 = 0058 0= without
4000 4 = 0059 6= 3 bar
6000 6 = 0059 Element model
7000, 7500 10 = 0059 0...= Standard adhesive T = 100 °.C
- - — ...0= Standard material
Fl|tl'a.tI0h rating in um ..DV= chemically nickel-plated
nominal
Stainless steel wire mesh, cleanable: G10, G25 =G...
Paper, non-cleanable: P10 =P...
absolute (ISO 16889)
Micro glass, non-cleanable: H3XL, H10XL, H20XL =H...XL
Pressure differential .
Max. admissible pressure differential of the filter element Ordering example:
30 bar =A 2.0058 H10XL-A00-0-M

) Only in connection with FKM seal.

2) Z = manufacturer's inspection certificate M according to DIN 55350 T18



4/16 Bosch Rexroth AG | Hydraulics 16 FE 2500 - 7500 | RE 51403/09.10

Preferred types

Inline filter with bypass, filtration rating 20 pm and nominal pressure 16 bar

Type Flow in L/min Material number
at v = 30 mm?%/s and Ap = 0.5 bar
16 FE 2500 H20XL-A 00-06V2,2-DOM00 2780 R928001255
16 FE 3000 H20XL-A 00-06V2,2-DOM00 3650 R928001256
16 FE 4000 H20XL-A 00-06V2,2-DOM00 4060 R928001257
16 FE 6000 H20XL-A 00-06V2,2-DOM00 6750 R928001258
16 FE 7000 H20XL-A 00-06V2,2-DOM00 9100 R928001259
16 FE 7500 H20XL-A 00-06V2,2-DOM00 13300 R928001260

Inline filter with bypass, filtration rating 10 pm and nominal pressure 16 bar

Type Flow in L/min Material number
at v = 30 mm?/s and Ap = 0.5 bar
16 FE 2500 H10XL-A 00-06V2,2-DOM00 2400 R928001249
16 FE 3000 H10XL-A 00-06V2,2-DOMO0 2950 R928001250
16 FE 4000 H10XL-A 00-06V2,2-DOM00 3540 R928001251
16 FE 6000 H10XL-A 00-06V2,2-DOM0O0 5750 R928001252
16 FE 7000 H10XL-A 00-06V2,2-DOMO0 8100 R928001253
16 FE 7500 H10XL-A 00-06V2,2-DOM00 11800 R928001254

Inline filter with bypass, filtration rating 3 ym and nominal pressure 16 bar

Type Flow in L/min Material number
at v = 30 mm?/s and Ap = 0.5 bar
16 FE 2500 H3XL-A 00-06V2,2-DOM00 1390 R928001243
16 FE 3000 H3XL-A 00-06V2,2-DOM0O0 1480 R928001244
16 FE 4000 H3XL-A 00-06V2,2-DOM0O0 2100 R928001245
16 FE 6000 H3XL-A 00-06V2,2-DOM00 3250 R928001246
16 FE 7000 H3XL-A 00-06V2,2-DOM0O0 5050 R928001247
16 FE 7500 H3XL-A 00-06V2,2-DOM00 5550 R928001248




RE 51403/09.10 | 16 FE 2500 - 7500

Preferred types

Hydraulics | Bosch Rexroth AG

5/16

Inline filter without bypass, filtration rating 20 um and nominal pressure 16 bar

Type Flow in L/min Material number
at v = 30 mm?%'s and Ap = 0.5 bar
16 FE 2500 H20XL-A 00-00V2,2-DOM00 2780 R928001237
16 FE 3000 H20XL-A 00-00V2,2-DOMO00 3650 R928001238
16 FE 4000 H20XL-A 00-00V2,2-DOMO00 4060 R928001239
16 FE 6000 H20XL-A 00-00V2,2-DOMO00 6750 R928001240
16 FE 7000 H20XL-A 00-00V2,2-DOMO00 9100 R928001241
16 FE 7500 H20XL-A 00-00V2,2-DOMO00 13300 R928001242

Inline filter without bypass, filtration rating 10 um and nominal pressure 16 bar

Type Flow in L/min Material number
at v = 30 mm?/s and Ap = 0.5 bar
16 FE 2500 H10XL-A 00-00V2,2-DOM00 2400 R928001231
16 FE 3000 H10XL-A 00-00V2,2-DOMO0 2950 R928001232
16 FE 4000 H10XL-A 00-00V2,2-DOM00 3540 R928001233
16 FE 6000 H10XL-A 00-00V2,2-DOMO0 5750 R928001234
16 FE 7000 H10XL-A 00-00V2,2-DOMO0 8100 R928001235
16 FE 7500 H10XL-A 00-00V2,2-DOM00 11800 R928001236

Inline filter without bypass, filtration rating 3 pm and nominal pressure 16 bar

Type Flow in L/min Material number
at v = 30 mm?%/s and Ap = 0.5 bar
16 FE 2500 H3XL-A 00-00V2,2-DOM0O0 1390 R928001225
16 FE 3000 H3XL-A 00-00V2,2-DOMO0O0 1480 R928001226
16 FE 4000 H3XL-A 00-00V2,2-DOM0O0 2100 R928001227
16 FE 6000 H3XL-A 00-00V2,2-DOM0O0 3250 R928001228
16 FE 7000 H3XL-A 00-00V2,2-DOMO0 5050 R928001229
16 FE 7500 H3XL-A 00-00V2,2-DOM0O0 5550 R928001230




6/16 Bosch Rexroth AG | Hydraulics 16 FE 2500 - 7500 | RE 51403/09.10

Ordering details: electronic switching element for clogging indicator

I T
ABZ| F | V— —1X/-DIN
Rexroth power unit accessories | -DIN =
Filter

Identification for
DIN and SAE models

Clogging indicator

electronic switching element with 1 switching point (changeover) 1X=

Unit series
unit series 10 to 19

round plug-in connection M12x1 = E1SP-M12X1 (10t 19; unchanged installation

and connection dimensions)

electronic switching element with 2 switching points (normally open/normally
closed), 75%, 100%, round plug-in connection M12x1, 3 LED = E2SP-M12X1

electronic switching element with 2 switching points (normally open/
normally closed), 75%, 100%, signal suppression until 30 °C
Round plug-in connection M12x1, 3 LED = E2SPSU-M12X1

Electronic switching element Material no.
ABZFV-E1SP-M12X1-1X/-DIN R901025339
ABZFV-E2SP-M12X1-1X/-DIN R901025340
ABZFV-E2SPSU-M12X1-1X/-DIN R901025341

Ordering example:  Pressure filter with mechanical optical clogging indicator for p, ., = 16 bar [232 psi] with bypass valve,
nominal size 3000, with filter element 10 ym and electronic switching element M12x1 with 1 switching

point for pressure liquid mineral oil HLP according to DIN 51524.

Filter: 16 FE 3000 H10XL-A00-00V2,2-DOMO0 Material number: R928001232
Clogging indicator: ABZFV-E1SP-M12X1-1X/-DIN Material number: R901025339

Plug-in connectors according to IEC 60947-5-2 (dimensions in mm [inch])

for electronic switching element with round plug-in connection M12 x 1

Plug-in connector for K24 4-pin, M12 x 1

with screwed connection, cable fitting Pg9.

Material no. R900031155

2x1
6/0.77]

M1
919,

M12x 1
919,60.77]

B 54 [2.12] |
Plug-in connector for K24-3m 4-pin, M12 x 1 a ;
with molded in PVC cable, 3 m long.
Line cross-section: 4 x 0.34 mm?
Core marking: 1  brown
2 white |
3 blue
4 black '
Material no. R900064381 - 41,5 [1.63] -

For additional round plug-in connections, see data sheet 08006.



RE 51403/09.10 | 16 FE 2500 - 7500

Symbols

Hydraulics | Bosch Rexroth AG 7/16

Pressure filter

|
|
|
L. ]

Electronic switching element

for clogging indicator

T ] |
L
ABZFV-E1SP-M12X1-1X/-DIN
Switching element Plug
l_uécu_na@r'a?d'ra_wr{_'_'_'_[_i
' in the plugged in Switching ' !

condition at point 100% | |
temp. > 30 °C |3 | ¥ LEDred . 5!
| (op. mode) |
| 30°C/20 °C Switching 4i
+ 86 °F /68 ° F point75% : |
| on / off LED yellom{ 1(+)|
| 75% 52 100% }Stand by
' K1 LED green | 3( )|
°

ABZFV E2SPSU-M12X1-1X/-DIN

Switching element Plug

| [ Circuit diagram drawn in the plugged in [
condition

(op. mode) | Switching
| o] point 100%
' 190% <¥ LED red

a
b
| ~ !02 i
: 75% o io4 -
| _°\<I>-— . Switching |
H - int 75% H
| 3 I Egllgtyelloow | |
. 1),
! Stand-by l |
| “¥ LED green | _)|

L ]

ABZFV-E2SP-M12X1-1X/-DIN

I__



8/16 Bosch Rexroth AG | Hydraulics 16 FE 2500 - 7500 | RE 51403/09.10

Technical data (for applications outside these parameters, please consult us!)

Electronic (electric switching element)

Electrical connection Round plug-in connection M12 x 1, 4-pin
Contact load, direct voltage A | Max. 1
Voltage range E1SP-M12x1  V DC/AC | Max. 150
E2SP VDC | 10t030
Max. switching capacity with ohmic loads 20 VA; 20 W; (70 VA)
Switching type E1SP-M12x1 Changeover
E2SP-M12x1 Normally open at 75% of the response pressure,

Normally closed at 100% of the response pressure

E2SPSU-M12x1 Normally open at 75% of the response pressure,
Normally closed at 100% of the response pressure
Signal switching through at 30 °C [86 °F],

Return switching at 20 °C [68 °F]

Display via LEDs Stand-by (LED green); 75% switching point (LED yellow)
in the electronic switching element E2SP... 100% switching point (LED red)
Type of protection according to EN 60529 IP 65

For direct voltage above 24 V a spark suppression is to be provided to protect the switching contacts.

Weight electronic switching element:
- with round plug-in connection M12 x 1 kg [lbs] | 0.1[0.22]




RE 51403/09.10 | 16 FE 2500 - 7500 Hydraulics | Bosch Rexroth AG 9/16

Characteristic curves H3XL...

Specific weight: < 0.9 kg/dm3 An optimum filter selection is made possible by our computer
Ap-Q characteristic curves for complete filters recommended program "BRFilterSelect".
initial Ap for design = 0.8 bar

120 mm?/s

. _ —— 46 mm?s
Oil viscosity: — — = 30mm%s

2500 3000

2 / '/‘/ / /'/
- 2
/ /'/‘ - d / -

-
= 1 — =
.
P " i L
L~ — - —
- - . -
— — =T

0 800 1600 2400 3200 0 1000 2000 3000 4000
Flow [L/min] — Flow [L/min] —

Differential pressure [bar] —
w
\
Differential pressure [bar] —
w

-
N
v

4000 6000
6 / 6
: / /
/
4 /

2 7~
~
1 7
-

2 /
¢/
/ T oF
/ -

. /|
7 ’_, _t - 1 . — =
L= :/ .
ﬂ" - -/":— -

\
\

—

Differential pressure [bar] —
w
\
Differential pressure [bar] —
w
N
\

\

.

0 1000 2000 3000 4000 5000 0 2000 4000 6000 8000
Flow [L/min] — Flow [L/min] —
7000 7500
6
T 4 ! /| 4
E // g V4
(0] (O]
= = /|
3 3 / é 4
3 3
o o
—= = 3
3 2 / - S -
/ - 5 ./‘
£ / i £ -
o 1 / P [a} _/' -7
Yy - 1 7 T
e T -/ -
; .{/ ~ /‘_—‘{—' -

0 2000 4000 6000 8000 10000 0 2500 5000 7500 10000 12500 15000
Flow [L/min] — Flow [L/min] —



10/16

Bosch Rexroth AG | Hydrauli

Characteristic curves

CcS

16 FE 2500 - 7500 | RE 51403/09.10

H10XL...

Specific weight: < 0.9 kg/dm3

Ap-Q characteristic curves for complete filters recommended

initial Ap for design = 0.8 bar

Differential pressure [bar] — Differential pressure [bar] —

Differential pressure [bar] —

28
24
2,0
1,6
1,2
08

04

28
24
2,0
1,6
1,2
0.8

04

24

2,0

1,6

1,2

08

04

0

2500

/

/ //
/ R
/| R
7
,/ Rt g
7
L7
/ 2 1
e Sl
s
800 1600 2400 3200 4000
Flow [L/min] —
4000
//
A ”
N
4 // P 7
/ s b
d '/ ~
P
L.~
V L=
_4;..4‘— -

1000 2000 3000 4000 5000 6000
Flow [L/min] —
7000
/

N L7

/ v
aw~al

==

£ ;—; =T

2000 4000 6000 8000 10000 12000

Flow [L/min] —

An optimum filter selection is made possible by our computer
program "BRFilterSelect".

120 mm?/s

. . —— 46 mm¥s
Oil viscosity: — — = 30mm%s

3000

3.2

: /
2,0 /
' /

16 /
/ 7
7

Differential pressure [bar] —

1.2 L7 4
A 7
08 // =T
/ ~_T -
04 L=
é;// ==
0 1000 2000 3000 4000 5000

Flow [L/min] —

6000

2,8 /
T 24 7
s
S 20 /
o
S /
@ 16
(O]
S / /'
< 12 L
= 7 “
o // i
o 08 A
£ 1 -
) / ,///

04 R

é’ ="

0 2000 4000 6000 8000
Flow [L/min] —

7500

3,0 /
! /|
'g 25 /
2, /
S 20 /
&
o
2 15 -
S Ps
5 10 / .alible
Q ' / // ” d
= . ~
[m] /‘/// o+

» S

LEF
0 4000 8000 12000 16000

Flow [L/min] —



RE 51403/09.10 | 16 FE 2500 - 7500

Characteristic curves

Hydraulics | Bosch Rexroth AG  11/16

H20XL...

Specific weight: < 0.9 kg/dm?3

Ap-Q characteristic curves for complete filters recommended

initial Ap for design = 0.8 bar

Differential pressure [bar] — Differential pressure [bar] —

Differential pressure [bar] —

2,0

15

1,0

0,5

2,0

15

1,0

0.5

1,6
1.4
1,2
1,0
0.8
0,6
04
0,2

0

2500

/A

<

/ ;‘J//

1000 2000 3000
Flow [L/min] —

4000

4000

/ /ié 1

A7

’ L
A .=F
é_:"

1000 2000 3000 4000 5000 6000

Flow [L/min] —

7000

\\\

N

N
AN
\
AN

/ 4""/

e

é;" {:’

2000 4000 6000 8000 10000 12000

Flow [L/min] —

An optimum filter selection is made possible by our computer
program "BRFilterSelect".

120 mm?/s
. _ —— 46 mm?s
Oil viscosity: — — = 30mm%s
3000
2,5
1 /
=20
2
e
=}
2 15 7
s /
2 R
£ 10 A
- ¥
5_’ s 7
8 05 / — //, g
e Rk
é,c'_‘{’

2,0

1.5

1,0

0,5

Differential pressure [bar] —

2,0

15

1,0

Differential pressure [bar] —

0.5

0

1000 2000 3000 4000 5000 6000

Flow [L/min] —

6000

/

N\

/|

R
//. i
é ;_%"

.
-

2000

4000 6000
Flow [L/min] —

8000 10000

7500

/

/

/

/ yd
7

N
NN

/|

/{'

L~
[~

A |-
~
=

4000

8000 12000
Flow [L/min] —

16000 20000



12/16  Bosch Rexroth AG | Hydraulics 16 FE 2500 - 7500 | RE 51403/09.10

Unit dimensions (dimensions in mm)

&
) .
|
|
Ce
|
|
o I —
- i
A
| @ I
\i/ _
\ | <
< !
< |
] Y | ] ¥
g :
\ ] '
28 el
/ §\=’:‘ N v
7 i |- T &
B4 o
QN
B2
Type |Content| Weight | A1 | A2 |A32| A4 | A5 | B1 | B2 | B3 | B4 | B5 | Ci c2 c3

16 FE...| inL | inkg"
2500 51 104 500 | 1295 | 860 | 257 | 1385 | 500 | 400 | 403 | 350 | 323 [DN125| @273 | @375
3000 53 108 500 | 1295 | 860 | 257 | 1385 | 500 | 400 | 403 | 350 | 323 [DN150| @273 | @375
4000 94 140 450 | 1375 | 990 | 214 | 1465 | 550 | 400 | 454 | 350 | 374 |DN 150 | @ 323.9| @ 420
6000 149 168 500 | 1640 | 990 | 212 | 1730 | 600 | 400 | 486 | 350 | 406 |[DN 200 |Q 355.6 | Q& 445
7000 335 333 500 | 1675 | 990 | 150 | 1841 | 740 | 400 | 639 | 350 | 559 [DN250| @508 | Q645
7500 344 355 500 | 1705 | 990 | 114 | 1870 | 750 | 400 | 639 | 350 | 559 [DN300| @508 | 645

) Weight including standard filter element and clogging indicator.
2) Withdrawal dimension for filter element replacement.



RE 51403/09.10 | 16 FE 2500 - 7500

Spare parts

Hydraulics | Bosch Rexroth AG  13/16

. L. Material Ordering information 16 FE...
Part | Piece Description
Steel 2500 3000 4000 6000 7000 7500
1 1 Filter housing Steel Please indicate ordering information “Filter”
2 1 Filter cover Steel Please indicate ordering information “Filter”
Please indicate ordering information “Filter Element”
s | 1 Filter . 3 4 6 10
element kit various Single Single Single Single
elements elements | elements elements
2.0058 2.0059 2.0059 2.0059
3.1 1 Seal ring kit NBR / FKM Please indicate ordering information “Filter”
4 1 Seal ring NBR / FKM Please indicate ordering information “Filter”
5 1 Qlogglng various Please indicate ordering information “Clogging indicator”
indicator
6 | 1 Bleed 1.4571 / FKM Part No. 13284
7 | 2 Plug 5.8 Part No. 791
8 2 Seal ring Soft steel Part No. 335

All part numbers BRFS specific.



14/16  Bosch Rexroth AG | Hydraulics

Spare parts (insert for DIN and SAE filters)

16 FE 2500 - 7500 | RE 51403/09.10

Mechanical optical
clogging indicator

Rexroth power unit accessories

ABZ| F | V-NV2-1X/ —DIN

DIN =

Filter

Identification for DIN and
SAE models

Clogging indicator

mechanical optical clogging indicator
for low-pressure filters
Switching point 2.2 bar [32 psi]

Sealing material
see table below
see table below

Unit series

unit series 10 to 19

(10 to 19; unchanged installation
and connection dimensions)

Mechanical optical
clogging indicator

ABZFV-NV2-1X/M-DIN

M
\"
=NV2
1X=
Material no.
R901025312

The ordering details for filter elements can be found on

page 3.

Sealing kits must be ordered by stating

the complete part key.

Sealing material and surface coating for pressure fluids

Ordering details

Mineral oils Sealing material Element model
Mineral oil HLP according to DIN 51524 M .0
Fire-resistant hydraulic fluids

Emulsions HFA-E according to DIN 24320 M .0
Synthetic water solutions HFA-S according to DIN 24320 M ..D
Water solutions HFC according to VDMA 24317 M ..D
Phosphate esters HFD-R according to VDMA 24317 \ ..D
Organic esters HFD-U according to VDMA 24317 \ ..D
Hydraulic fluids that are fast biodegradable

Triglycerides (rape seed oil) HETG according to VDMA 24568, M

Synthetic esters HEES according to VDMA 24568, \'%

Polyglycoles HEPG according to VDMA 24568 \" ..D




RE 51403/09.10 | 16 FE 2500 - 7500

Installation, commissioning and maintenance

Hydraulics | Bosch Rexroth AG  15/16

Installation
Verify operating pressure with name plate information.

Install the filter into the pipe work; when doing so, consider
the flow direction and the withdrawal height of the filter ele-
ments.

A Warning!
Vessel is under pressure!

Assemble and disassemble the filter only when system is de-
pressurized!

Do not replace the clogging indicator while the filter is under
pressure!

Functional and safety warranty only applicable when using
genuine Rexroth spare parts!

Service filter only by trained personnel!

Commissioning
Switch on system pump.

Bleed filter by opening the bleed screw, close when operating
fluid vents.

Maintenance

If at operating temperature, the red indicator pin shows out
of the clogging indicator so far that it contacts the plastic-cap
and/or if the switching process in the electric display is trig-
gered, the filter elements are clogged and need to be re-
placed or cleaned respectively.

Filter element replacement
Close the shut-off device.

Open the bleed screw and reduce the pressure. Lift off the fil-
ter cover. Open the plug at the filter housing and drain the fil-
ter. Remove the filter elements from the lower centering spig-
ots in the filter housing by turning them lightly.

Check the filter housing for cleanliness and clean if neces-
sary.

Replace the filter elements.

Re-install the cleaned or new filter elements (fabric material)
into the filter housing. Check the seal and replace it in case of
damage or wear. Re-attach the filter cover.

Close the plug at the filter housing. Fill the filter slowly. When
operating fluid vents, close the bleed screw.

Filter is ready for use.

Technical modifications reserved!



16/16  Bosch Rexroth AG | Hydraulics 16 FE 2500 - 7500 | RE 51403/09.10

Notes

Bosch Rexroth Filtration Systems GmbH © This document, as well as the data, specifications and other informa-
HardtwaldstraBe 43, 68775 Ketsch, Germany tion set forth in it, are the exclusive property of Bosch Rexroth AG. It
POB 1120, 68768 Ketsch, Germany may not be reproduced or given to third parties without its consent.
Phone +49 (0) 62 02 /6 03-0 The data specified above only serve to describe the product. No state-
Fax +49 (0) 62 02 /6 03-1 99 ments concerning a certain condition or suitability for a certain applica-
brfs-support@boschrexroth.de tion can be derived from our information. The information given does not
www.eppensteiner.de release the user from the obligation of own judgment and verification. It

must be remembered that our products are subject to a natural process
of wear and aging.



	Application
	Features
	Design
	Filter element
	Accessories
	Characteristic curves
	Quality and standardization
	Ordering details
	Preferred types
	Ordering details: electronic switching element for clogging indicator
	Plug-in connectors according to IEC 60947-5-2
	Symbols
	Technical data
	Characteristic curves
	Unit dimensions
	Spare parts
	Installation, commissioning and maintenance


<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.1000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 150
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 150
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /CreateJDFFile false
  /SyntheticBoldness 1.000000
  /Description <<
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308030d730ea30d730ec30b9537052377528306e00200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /FRA <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
    /ENU <>
    /DEU <>
  >>
>> setdistillerparams
<<
  /HWResolution [1200 1200]
  /PageSize [612.000 792.000]
>> setpagedevice


